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QUESTION 1

SMLTV2 is introduced with the Virtual Services Platform (VSP) 9000, and is easier to configure than SMLTV1.

What is a requirement for SMLTv2?

A. MLT IDs must be globally unique on a VSP 9000 cluster.

B. SMLT IDs must be globally unique on a VSP 9000 cluster.
C. SLT IDs must be globally unique on a VSP 9000 cluster.

D. RSMLT IDs must be globally unique on a VSP 9000 cluster.

Correct Answer: A

QUESTION 2

Which statement describes a characteristic of Routed Split Multilink Trunking (RSMLT) configuration?
A. RSMLT is only configured on edge SMLT connections.

B. RSMLT uses priority values to distinguish between the primary and backup routers.

C. RSMLT routers are implemented with the VRF-Lite routers.

D. RSMLT is always used in conjunction with routing protocols and SMLT connections.

Correct Answer: D

QUESTION 3

Given the following syntax:

config ethernet ip create [mac_offset ]

Which action is depicted in the command above?

A. Assign an IP address and a VLAN Id to the module.
B. Assign the DNS attributes and a server to the switch.
C. Assign an IP address and a VLAN Id to a port.

D. Assign the DHCP attributes to a given VLAN.

Correct Answer: C

QUESTION 4
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During a power-on or cold-start sequence, at which stage can the flags to change the operational environment of the
switch be set?

A. the boot monitor prompt

B. the image search

C. the system test

D. the boot configuration prompt

Correct Answer: A

QUESTION 5

A technician is configuring a Link Aggregation connection from a stack of Ethernet Routing Switch (ERS) 5500 switches,
to a core pair of ERS 8000 switches. Which statement about the correct uplink configuration is true?

A. Distribute uplinks across different ERS 5500 switches in the stack.

B. Disable autonegotiation and replace it with VLACP to identify single fiber fault failure.

C. Use unique MLT IDs for each stack of edge ERS 5500 switches.

D. Enable Spanning Tree Protocol for the MLT when using it with SMLT in the core of the network.

Correct Answer: B
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